

4.5: Some Discrete Distribution to Find

(Expectation, Variance, Moment Generating Function)

$$A - E(X) = \sum_{x} x p(x)$$

$$B - \text{Var}(X) = E(X - E(X))^2 = E(X^2) - (E(X))^2$$

$$C - M_X(t) = m_X(t) = E(e^{tx}) = \sum e^{tx} p(x)$$

1- Uniform Distribution :-

$$P(X) = \frac{1}{n} ; X = 1, 2, 3, \dots, n ; X \sim U(1, n)$$

$$A - E(X) = \sum_{x=1}^n x p(x) = \sum_{x=1}^n x \frac{1}{n} = \frac{1}{n} \sum_{x=1}^n x = \frac{1}{n} \cdot \frac{n(n+1)}{2}$$

$$\therefore E(X) = \frac{n+1}{2}$$

$$B - \text{Var}(X) = \sigma_X^2 = E(X^2) - [E(X)]^2$$

$$\therefore E(X^2) = \sum_{x=1}^n x^2 \frac{1}{n} = \frac{1}{n} \sum_{x=1}^n x^2 = \frac{1}{n} * \frac{n(n+1)(2n+1)}{6}$$

$$\therefore E(X^2) = \frac{(n+1)(2n+1)}{6}$$

$$\begin{aligned} \therefore \text{Var}(X) &= \frac{(n+1)(2n+1)}{6} - \frac{(n+1)^2}{4} = \frac{2(2n^2+n+2n+1)-3n^2-6n-3}{12} \\ &= \frac{4n^2+6n+2-3n^2-6n-3}{12} = \frac{n^2-1}{12} \end{aligned}$$

$$C - M_X(t) = m_X(t) = E(e^{tx}) = \sum_{x=1}^n e^{tx} \frac{1}{n}$$

$$= \frac{1}{n} \sum_{x=1}^n e^{tx} = \frac{1}{n} [e^t + e^{2t} + e^{3t} + \dots + e^{nt}]$$

We have $\sum_{x=0}^n 1^x = \frac{1 - 1^{n+1}}{1 - 1} = \frac{1 - 1}{1 - 1} = \frac{0}{0}$ مواليد

$$\therefore M_X(t) = \frac{e^t}{n} [1 + e^t + e^{2t} + \dots + e^{(n-1)t}] = \frac{e^t}{n} \sum_{x=0}^{n-1} e^{tx}$$

$$= \frac{e^t}{n} \left[\frac{1 - (e^t)^n}{1 - e^t} \right] = \frac{e^t}{n} \left[\frac{1 - e^{nt}}{1 - e^t} \right]$$

$$m_x^K(0) = \frac{d^K m_x(t)}{dt^K} \Big|_{t=0} = m_K$$

$$\therefore m'_x(0) = m_1 = \frac{n+1}{2}; \quad m''_x(0) = m_2 = \frac{(n+1)(2n+1)}{6}$$

$$\therefore \text{Var}(x) = m_2 - m_1^2 = \frac{n^2-1}{12}$$

2 - Bernoulli Distribution

$$P(x) = p^x q^{1-x} ; \quad x = 0, 1 ; \quad x \sim \text{Ber}(p)$$

$$\text{A} - E(x) = \sum_{x=0}^1 x p(x) = \sum_{x=0}^1 x p^x q^{1-x} = 0 * p^0 q^1 + 1 * p^1 q^0 = p$$

$$\therefore E(x) = p$$

$$\text{B} - \text{Var}(x) = E(x^2) - [E(x)]^2$$

$$\therefore E(x^2) = \sum_{x=0}^1 x^2 p(x) = \sum_{x=0}^1 x^2 p^x q^{1-x} = 0^2 * p^0 q^1 + 1^2 * p^1 q^0 = p$$

$$\therefore \text{Var}(x) = p - p^2 = p(1-p) = pq$$

$$\text{C} - M_x(t) = m_x(t) = E(e^{tx}) = \sum_{x=0}^1 e^{tx} p^x q^{1-x} = e^{pt} + e^{q(1-p)}$$

$$\therefore m_x(t) = q + p e^t$$

3 - Binomial Distribution :-

$$P(x) = \binom{n}{x} p^x q^{n-x} ; \quad x = 0, 1, 2, \dots, n ; \quad x \sim B(n, p)$$

$$\text{A} - E(x) = \sum_{x=0}^n x p(x) = \sum_{x=0}^n x \binom{n}{x} p^x q^{n-x} = \sum_{x=0}^n x \frac{n!}{x!(n-x)!} p^x q^{n-x}$$

$$= \sum_{x=0}^n x \frac{n(n-1)!}{x(x-1)!(n-x)!} p^{x-1} q^{n-x}$$

$$= np \sum_{x=0}^{n-1} \frac{(n-1)!}{(x-1)!(n-x)!} p^{x-1} q^{n-x} = np(p+q)^{n-1}$$

$$\therefore E(x) = np(1)^{n-1} = np$$

(V.)

$$\begin{aligned}
 B - \text{Var}(x) &= E(x^2) - [E(x)]^2 \\
 &= Ex(x-1) + E(x) - [E(x)]^2 \\
 \therefore Ex(x-1) &= \sum_{\forall x} x(x-1) {}^n \binom{x}{x} p^x q^{n-x} = \sum_{\forall x} x(x-1) \frac{n!}{x!(n-x)!} p^x q^{n-x} \\
 &= \sum_{\forall x} \frac{x(x-1)n(n-1)(n-2)!}{x(x-1)(x-2)!(n-x)!} p^2 p^{x-2} q^{n-x} \\
 &= n(n-1)p^2 \sum_{\forall x} \frac{(n-2)!}{(x-2)!(n-x)!} p^{x-2} q^{n-x} \\
 &= n(n-1)p^2 (p+q)^{n-2} = n(n-1)p^2 (1)^{n-2} \\
 \therefore \text{Var}(x) &= n^2 p^2 - np^2 + np - n^2 p^2 = np - np^2 \\
 &= np(1-p) = npq
 \end{aligned}$$

$$\begin{aligned}
 C - M_x(t) = m_x(t) &= E(e^{tx}) = \sum_{\forall x} e^{tx} {}^n \binom{x}{x} p^x q^{n-x} \\
 &= \sum {}^n \binom{x}{x} (pe^t)^x q^{n-x} ; \quad pe^t = a \\
 &\quad q = b \\
 \therefore M_x(t) = m_x(t) &= (pe^t + q)^n \quad (a+b)^n = \sum {}^n \binom{x}{x} a^x b^{n-x}
 \end{aligned}$$

4- Poisson Distribution :-

$$\begin{aligned}
 P(x) &= \frac{-\lambda^x \lambda^x}{x!} \quad ; \quad x = 0, 1, 2, \dots, x \sim P(\lambda) \\
 A - E(x) &= \sum_{\forall x} x p(x) = \sum_{x=0}^{\infty} x \frac{-\lambda^x \lambda^x}{x!} = \lambda \sum_{x=0}^{\infty} x \frac{\lambda^{x-1}}{(x-1)!} \\
 &= \lambda e^{-\lambda} \sum_{x=0}^{\infty} \frac{\lambda^{x-1}}{(x-1)!} ; \quad \lambda e^{-\lambda} = \sum_{x=0}^{\infty} \frac{\lambda^x}{x!} \\
 &= \lambda e^{-\lambda} \lambda = \lambda e^0 = \lambda
 \end{aligned}$$

$$\therefore E(x) = \lambda$$

(V1)

$$\begin{aligned}
 B - \text{Var}(X) &= \sigma_x^2 = E[X^2] - [E[X]]^2 = E[X(X-1)] + E[X] - [E[X]]^2 \\
 \therefore E[X(X-1)] &= \sum_{x=0}^{\infty} x(x-1) \frac{-\lambda e^{-\lambda} \lambda^x}{x!} = \sum \frac{x(x-1) e^{-\lambda} \lambda^x}{x(x-1)(x-2)!} \\
 &= \lambda^{x-1} \sum_x \frac{\lambda^{x-2}}{(x-2)!} = \lambda^{x-1} \lambda^2 e^{-\lambda} = \lambda^2
 \end{aligned}$$

$$\therefore \text{Var}(X) = \lambda^2 + \lambda - \lambda^2 = \lambda$$

$$\begin{aligned}
 C - M_x^t &= m_x(t) = E(e^{tx}) = \sum_{x=0}^{\infty} e^{tx} \frac{-\lambda e^{-\lambda} \lambda^x}{x!} \\
 &= \sum_{x=0}^{\infty} \frac{-\lambda e^{-\lambda} (\lambda e^t)^x}{x!} = -\lambda e^{-\lambda} \sum_{x=0}^{\infty} \frac{(\lambda e^t)^x}{x!} = -\lambda e^{-\lambda} e^{\lambda t}
 \end{aligned}$$

$$\therefore m_x(t) = e^{\lambda(e^t - 1)}$$

5 - Geometric Distribution

$$P(X) = pq^x, \quad x = 0, 1, 2, 3, \dots ; X \sim G(p)$$

$$\begin{aligned}
 A - E(X) &= \sum_{x=0}^{\infty} x p q^x = p \sum_{x=0}^{\infty} x q^x = p [0 + 1q + 2q^2 + \dots] \\
 &= p [q + 2q^2 + 3q^3 + 4q^4 + \dots] \\
 &= pq [1 + 2q + 3q^2 + 4q^3 + \dots] \\
 &= pq \sum_{x=1}^{\infty} x q^{x-1} \quad ; \quad \sum_{x=1}^{\infty} x q^{x-1} = \frac{\partial}{\partial q} \sum_{x=0}^{\infty} q^x \\
 &= pq \frac{\partial}{\partial q} \sum_{x=0}^{\infty} q^x \\
 &= pq \frac{\partial}{\partial q} [1 + q + q^2 + \dots]
 \end{aligned}$$

$$\therefore E(X) = pq \frac{\partial}{\partial q} \left(\frac{1}{1-q} \right) = pq \frac{1}{(1-q)^2} = \frac{pq}{p^2} = \frac{q}{p} \quad (\text{Ans})$$

$$B - \text{Var}(X) = Ex^2 - (Ex)^2$$

$$Ex^2 = \sum_{x=1}^{\infty} x^2 p q^{x-1} = \sum_{x=1}^{\infty} [x(x-1) + x] p q^{x-1}$$

$$= P \sum_{x=1}^{\infty} x(x-1) q^{x-1} + P \sum_{x=1}^{\infty} x q^{x-1}$$

$$\frac{\partial}{\partial q} q^x = x q^{x-1}; \quad \frac{\partial^2}{\partial q^2} q^x = x(x-1) q^{x-2}$$

$$\therefore Ex^2 = P \sum_{x=1}^{\infty} x(x-1) q^{x-2} + P \sum_{x=1}^{\infty} x q^{x-1}$$

$$= Pq \sum_{x=2}^{\infty} x(x-1) q^{x-2} + P \sum_{x=1}^{\infty} x q^{x-1}$$

$$= Pq \frac{\partial^2}{\partial q^2} \sum_{x=0}^{\infty} q^x + pq \frac{\partial}{\partial q} \sum_{x=0}^{\infty} q^x$$

$$= Pq \frac{\partial^2}{\partial q^2} \left(\frac{1}{1-q} \right) + pq \frac{\partial}{\partial q} \left(\frac{1}{1-q} \right)$$

$$= Pq \frac{2}{(1-q)^3} + P \frac{q}{(1-q)^2} = \frac{2pq}{p^3} + \frac{pq}{p^2}$$

$$= \frac{2q}{p^2} + \frac{q}{p}$$

$$C - M_x^t = m_x(t) = E(e^{tx}) = \sum_{x=0}^{\infty} e^{tx} p q^x$$

$$= P \sum_{x=0}^{\infty} (e^{tx} q)^x = P[1 + e^t q + (e^t q)^2 + \dots]$$

$$= P \frac{1}{1 - e^t q} = P (1 - q e^t)^{-1}$$

$$\therefore m_x(t) = P (1 - q e^t)^{-1}$$

(v4)